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3. The scatter graph shows the maximum temperature and the number of hours of
sunshine in fourteen British towns on one day.
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(a) One of the points is an outlier.
Write down the coordinates of this point (1 mark)
(10,19)
On the same day, in another British town, the maximum temperature was 16.4  °C.
(b) Estimate the number of hours of sunshine in this town on this day. (2 marks)

12.8 hours
A weatherman says,

“Temperatures are higher on days when there is more sunshine.”
(c) Does the scatter graph support what the weatherman says?

Give areason for your answer. (2marks)

Yes, as the number of hours of sunshine increases the maximum

temperature goes up.




image8.svg
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The table shows information about the weekly earnings of 20 people who

work in a shop.

Weekly earnings XE Frequency
150 < x< 250 1
250 < x< 350 11
350 < x< 450 5
450 < x< 550
550 < x< 650 3
(a) Work out an estimate for the mean of the weekly earnings. (3 marks)

y (1 x 200) + (11 x 300) + (5 x 400) + (0 X 500) + (3 x 600)
ean ~
20

200 + 3300 + 2000 + 0 + 1800
~ 20

7300
~ —— =~ £365
20
Nadiya says,
“The mean may notbe the best average to use to represent this information.”
(b) Do you agree with Nadiya?

You must justify your answer. (1 mark)

The mode or median could be better due to outliers .

The mean value is influenced by relatively few higher earners .
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image11.png
E = {even numbers between 1 and 25}
A={2,8,10, 14}
B={6,8, 20}

C= {8, 18, 20, 22}

(a) Complete the Venn diagram for this information. (4 marks)
2
10 6
14
8
4 20 24
18 22
12 16

A number is chosen at random from E.
(b) Find the probability that the number is a memberof AN B. (2 marks)
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The table shows the probabilities that a biased dice will land on 2, on 3, on

4,on 5 and on 6

Number on dic 1 2 3 4 5 6

Probability 0.17 |0.18 |0.09 |0.15 | 0.1

Neymar rolls the biased dice 200 times.

Work out an estimate for the total number of times the dice will land on 1 or

on 3 (3 marks)

P(1) =1— (0.17 + 0.18 + 0.09 + 0.15 + 0.1)
=1-0.69 =031

n(1or3) = 200 x (0.31 + 0.18)

= 200 x 0.49 = 98
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                 1. The table shows the probabilities that a biased dice will land on 2, on 3, on 4, on 5 and on 6              Number on dice 1 2 3 4 5 6 Probability  0.17  0.18  0.09  0.15 0.1 Neymar rolls the biased dice 200 times. Work out an estimate for the total number of times the dice will land on 1 or  on 3 ( 3   𝑚𝑎𝑟𝑘𝑠 ) 𝑃  1 = 1 − (0 . 17 + 0 . 18 + 0 .09 + 0 .15 + 0 .1 ) = 1 − 0 . 69 = 0 . 31 𝑛  1   𝑜𝑟   3 = 200 × (0 . 31 + 0.18) = 200 × 0 . 49 = 98
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There are only blue cubes, red cubes and yellow cubes in a box.

The table shows the probability of taking at random a blue cube from the box.

Colour | blue red yellow

Probability 0.2 0.4 0.4
The number of red cubes in the box is the same as the number of yellow
cubes in the box.

(a) Complete the table. (2 marks)

Let the probability of selecting either a red or yellow cube be x.
Then0 2+x+x=1
2x = 0.8
x =04

There are 12 blue cubes in the box.

(b) Work out the total number of cubes in the box. (2 marks)

Let there be a total number of N cubes in the box.

12
P(B) = =02
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